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Standard 10
Time: 3.00 Hrs. SOCIAL SCIENCE Maximum Marks: 100
PARY. 1
i_) Answer all the questions. 14x1=14
ii) Choose the most appropriate answer from the given four alternatives and

write the option code at)d the corresponding answer.
1) With whom of following was the Lateran Treaty signed by Italy?

a) Germany b) Russia c) Popo d i
2) Where was the Japanese Navy defeated by tﬁe US Navy? ) Spain
a) Battle of Guadal canal b) Battle of Midway
c) Battle of Leningrad d) Battle of El Alamein
3) Who was the author of the book Satyarthaprakash?
a) Dayananda Saraswathi b) Ayothee Thasser
¢) Annie Besant d) Swami Shradanatha
4) Assertion (A) : The Revolt of 1857 was brutally suppressed By the British
Army.
Reason (R) ¢ The failure of the Rebellion was due to the absence of

central authority.
a) Both (A) and (R) wrong.
b) (A) is wrong and (R) is correct.
c) Both (A) and (R) correct and (R) is correct explanation of (A).
d) Both (A) and (R) are correct but (R) is not the correct explanation of (A).

5) Where was the anti-Hindi conference held ?
a) Erode ’ b) Madras c) Salem d) Madurai
6) The highest peak in South India is .
a) Ooty b) Kodaikanal ¢) Anaimudi d) Jindhagada
7) The monsoon forests are otherwise called as .
a) Tropical Evergreen forest b) Deciduous forest
c) Mangrove forest d) Mountain forest
8) Which crop is called as "Golden Fibre" in India?
a) Cotton b) Wheat c) Jute d) Tobacco
9) The major import item of India is
a) Cement b) Jewells c) Tea d) Petroleum
10) Number of major and minor ports in Tamil nadu are
a) 3and 15 b) 4 and 15 c) 3and 16 d) 4 and 15
11) The constitutional Head of the Unionis ____ .
a) The President b) Chief Justice
c) The Prime Minister d) Council of Minister
12) Find the odd one.
a) Social welfare  b) Health care c) Diplomacy d) Domestic affairs
13) Indiais the larger producer in agricultural product.
a) lst b) 3rd C) 4th d) znd

14) Choose the correct statement:
Which of the following statement is correct about GST?

i) GST is the one point tax. ‘ |

i) This aims to replace all direct taxes levied on goods and services by the
central and state governments.

i) It will be implented from 1 July 2017 throughout the country.

iv) It will unified the tax structure in India.

a) (i) and (ii) are correct. b) (ii), (iii), (iv) are correct.
¢) (i), (iii) and (iv) are correct. d) all are correct
PART -1I
Answer any 10 questions. Question No. 28 is compulsory: 10x2=20

15) What do you know of "French warfare"?
16) Who were the three prominent dictators of the post World War I1?
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18)
19)
20)
21)
22)
23)
24)
25)
26)
27)
28)

What is the contribution of Annie Besant to India's freedom struggle?
Name the neighbouring countries in India.

What is 'burst of monsoon'?

Name the seasons of agriculture in India.

What is communication? What are its types?

What is Teri?

What is the qualification of Judges of the Supreme court?

What do you know about Kaladan multi-model Transit Transport?
What is meant by Gross Domestic Product?

What are the effects of Green Revolution?

PART -I1I

Answer any 10 questions. Question No. 42 is compulsory: 10x5=50

29)

30)
31)
32)
33)

34)
35)
36)
37)
38)
39)
40)
Note:

Fill in the blanks:

i) The founder of the Social Democratic party was .

ii) Chota Nagpur Act was passed in the year ___

iif) The difference between the value of exports and imports is called
iv) India's Gateway to South East Asia is .

v) The Detroit of Asia is .

Discuss the main causes of the First World War.

Account for the outbreak of Vellore Revolt in 1806?

Examine the factor that led to the transformation of Gandhi into a mass leader.
Distinguish between:

i)” Weather and Climate

i) Renewable sources and Non-Renewable sources

Give Reasons:

West flowing rivers do not form delta.

Give a detailed account on the basin of the Ganga.

Describe the major challenges of Indian Industries.

Write an account on River Cauvery.

What are duties and functions of the Prime Minister of India?
Discuss the core determinants of India's foreign policy.

Write the challenges of Globalizations.

What is black money? Writes the causes of black money.

Blind candidates have to write only notes for the questions related to
Time-line chart and map.

41) Draw a Time line for any five important events of 1910 - 1930.
42) Inthe given India map mark the following places:
(i) Gwalior (ii) Kanpur (iii) Chauri Chaura (iv) Pune (v) Vedaranyam
_ PART -1V
Answer the following questions: 2x8=16

43)

a) Assess the structure and activities of the UN.
(OR)
b) Describe the background for the formation of the Justice party and point
out its contribution to the causes of social Justice.

Note: Blind candidates have to write only notes for the questions related to map.

44)

a) Mark the following places on the given outline map of India:

(i) Karakoram (i) Deccan plateau
(iii) Gulf of Kutch (iv) Cotton growing area
(v) South west monsoon (vi) Krishna river
(vii) Western ghats (viii) Indira point
(ix) Mumbai to Kolkatta Train route (x) Vizagapattinam port
(OR)
b) Mark the following places on the Tamil Nadu map:
(i) Gulf of Mannar (i) Salem
(iii) Eastern ghats (iv) Palani hills
(v) Paddy growing region (vi)  Nilgiris "
i of Bengal viii) Thamir. i ri J
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